



SINGAPORE



INTRODUCTION

A luxury landmark set in the heart of a historic precinct, InterContinental Singapore is deeply rooted in the heritage of the arts and cultural districts of Bugis and Bras Basah. Drawing on the city's rich legacy and multifaceted culture inspired by the surrounding locale, the 403-guestroom hotel exudes a residential charm that harmoniously marries luxury and elegance with hints of locality.

HOTEL FACILITIES

From dining options and recreational activities, to business and meeting requirements, our suite of services and facilities are designed to cater to your every need.

Hotel facilities include:

- Club InterContinental lounge
- Outdoor swimming pool
- Fitness Centre (7:00am to 10:00pm)
- Yoga room
- Concierge
- Business centre
- Three dining venues including LUCE by Davide Giacomelli, Man Fu Yuan and The Lobby Lounge



LOCATION

Located in Singapore's arts and cultural district of Bugis and Bras Basah, InterContinental Singapore is directly connected to Bugis Mass Rapid Transit (MRT) station. The hotel is also a 20 minute drive from Changi International Airport and is 5 minutes by car from Orchard Road and the Central Business District.

SINGAPORE



SANCTUARY IN THE CITY

Exuding elegant charm with accents of Singapore's rich heritage, the 403 spacious guestrooms and suites feature plush beddings, custom furnishings and well-appointed amenities. Luxuriate in the natural light-filled interiors of guestrooms in the Main Tower, or experience shophouse living in the Heritage Wing, inspired by the homes of the Straits Chinese population of Singapore. Each room contains:

- Down feather duvet and pillows
- Laundry, mending and shoeshine services
- High-speed wired and wireless internet connectivity
- Coffee and tea facilities



ELEVATED LUXURY

Experience the pinnacle of luxury at the Club InterContinental lounge, a private enclave designed for the discerning traveller. Rich Peranakan culture is conveyed through its spacious interiors featuring exquisite fabrics, elegant furniture and a fascinating collection of arts and artefacts. Club InterContinental guests also enjoy a host of bespoke services and privileges including:

- Daily culinary indulgences including breakfast, afternoon tea and evening cocktails and canapes
- A premium selection of coffee and loose-leaf tea throughout the day
- 20% savings on all laundry services

SINGAPORE



RESTAURANTS & BAR

Discover a world of gourmet delights at InterContinental Singapore, from contemporary Chinese cuisine at Man Fu Yuan and Italian delicacies at LUCE by Davide Giacomelli, to an indulgent afternoon tea experience and bespoke cocktails at The Lobby Lounge.

LUCE by Davide Giacomelli

From the bright flavours on the plate to the warm, inviting atmosphere, light is at the heart of everything behind LUCE where you find traditional Italian cuisine at its purest, where simplicity is an art form and fresh seasonal produce is the star on every plate. The dishes are a culmination of Chef de Cuisine Davide Giacomelli's training under the tutelage of multiple Michelin-starred chefs throughout his career and pays homage to his earliest love affair - the sight, scent and flavours of classic Italian cooking at his father's restaurant in the quaint town of Sirmione, 'the pearl' of Lake Garda. Together with accomplished restaurant manager and sommelier, Artem Viglione, Chef Davide invites guests to experience an authentic Italian dining experience at the InterContinental® Singapore. Buon appetito!

Man Fu Yuan

Lauded as one of Singapore's best Chinese restaurants and recipient of the Michelin Plate, Man Fu Yuan is a stalwart in the Chinese fine dining scene in Singapore, serving culinary presentations that showcase an artful balance of modern flavours with traditional Cantonese craftsmanship. Look forward to a refined dining experience underpinned by authentic Chinese culinary techniques with a touch of modernity, and elevate your experience with a handpicked selection of quality wines or premium tea pairings.

The Lobby Lounge

The charming centrepiece of the hotel, The Lobby Lounge encapsulates the allure of the classic with elements of modernity whilst embracing its heritage setting. By day, the sun-kissed space makes for an ideal setting for a leisurely Afternoon Tea experience, and evolves into a charming backdrop for a wind down with exquisite wines and cocktails in the evening.

EVENTS

With state-of-the-art facilities and elegantly-appointed spaces with natural daylight, InterContinental Singapore is one of the top choices for corporate or social events in Singapore by meeting planners. A range of 11 versatile rooms featuring over 1,000 square metres of conference and function space include:

- State-of-the-art audio-visual facilities including premium LCD projectors, screens and speakers
- Video conferencing equipment
- Expert on-site audio visual team and meetings specialists
- High-speed internet access
- InterContinental Meetings collection including authentic Singapore experiences

| | Level | Theatre | Classroom | Reception | Banquet | Boardroom | Area m2 | Dimension | Height | Door h/w |
|--|----------------|---------|-----------|-----------|---------|-----------|---------|--------------|--------|-----------|
| Grand Ballroom (Combination of below) | 2 | 500 | 280 | 450 | 400 | - | 540 | 19.5 x 27.75 | 5.9 | 2.4 x 0.9 |
| Ballroom 1 | 2 | 150 | 96 | 130 | 120 | 32 | 180 | 19.5 x 9.25 | 5.9 | 2.4 x 0.9 |
| Ballroom II | 2 | 150 | 96 | 130 | 120 | 32 | 180 | 19.5 x 9.25 | 5.9 | 2.4 x 0.9 |
| Ballroom III | 2 | 150 | 96 | 130 | 120 | 32 | 180 | 19.5 x 9.25 | 5.9 | 2.4 x 0.9 |
| Bras Basah Rooms (Combination of below) | 3 | 120 | 72 | 120 | 100 | 32 | 163 | 7.75 x 21.0 | 2.8 | 2.1 x 0.9 |
| Bras Basah I | 3 | 40 | 24 | 40 | 40 | 17 | 58 | 7.75 x 7.5 | 2.8 | 2.1 x 0.9 |
| Bras Basah II | 3 | 40 | 27 | 40 | 40 | 17 | 62 | 7.75 x 8.0 | 2.8 | 2.1 x 0.9 |
| Bras Basah III | 3 | 30 | 18 | 20 | 20 | 14 | 43 | 7.75 x 5.5 | 2.8 | 2.1 x 0.9 |
| The Vault (Combination of below) | Lower Lobby | 120 | 72 | 120 | 120 | 30 | 206 | - | 2.8 | 2.2 x 0.9 |
| Vault I | Lower Lobby | 24 | 18 | 20 | 20 | 14 | 56 | 9.60 x 5.85 | 2.8 | 2.2 x 0.9 |
| Vault II | Lower Lobby | 30 | 18 | 30 | 30 | 14 | 57 | 8.45 x 6.75 | 2.8 | 2.2 x 0.9 |
| Vault III | Lower Lobby | 48 | 30 | 40 | 50 | 21 | 93 | 12.1 x 7.7 | 2.8 | 2.2 x 0.9 |
| Boardroom | 3 | - | - | - | - | 10 | 32 | 7.5 x 4.25 | 2.8 | 2.1 x 0.9 |
| The Library | 11 | 40 | 18 | 30 | 40 | 18 | 68.4 | 7.6 x 9.0 | 2.9 | 2.1 x 0.9 |



InterContinental Singapore 80 Middle Road, Singapore 188966

singapore@ihg.com T: +65 6338 7600

sing apore. intercontinental. com